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�ŠwŠb‰�XZy~ÐÜsZq-9 eeeegggg **åÒ**]~ÐCÙZq-Æa / qgzfsÎZÑ] .I

8 < 1 = 8 �Šw854è FNE
GZzgCÙÎZwÆ‚B�ÛZë™Š{(~ZkÆws{Æ‚Bå�Z[KX

Å7Hì? ƒÂ Z¤/ .1

9 (B) 6 (A)

27 (D) 12 (C)

»ˆ!Zz‰ì 8 Zzg 2 .2

10 (B) 5 (A)

3.2 (D) 16 (C)

ƒÂ;g»SkyHƒÇ? 0⋅3 Zq-öÅÛA»Sky .3

0⋅3 (B) 0⋅1 (A)

1⋅3 (D) 0⋅7 (C)

»ŠgzHì? 2x 2 - 4x 3 +3x + 5 0Mg .4  

1 (B) 0 (A)

3 (D) 2 (C)

ÆŠgxyÃ,Hƒ@*ì? ( 4,-3 ) JZZzg̀ .5

Z»×V 5 (B) Z»ð 1 (A)

Z»×V -12 (D) Z»×V 7 (C)
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9Ÿ¹é ENƒgppzZáâÅeyy¥x<X  60° .6

(B) 0 (A)

(D) (C)

Å7HƒCì? cosec θ  ƒÂ  sin .7

(B) (A)

(D) (C)

ƒÂZjgzVÅp5+k,~»°Š~u 10 ZzgZy»Zz‰ 1⋅2 ZjgzVÆZq-ÃL»£g~Z�Zs .8

¥x<

0⋅12 (B) 12 (A)

120 (D) 20 (C)

6 < 1 = 6 Šg`fsÎZÑ]i<: .II

¥x<X A
/ ƒÂ A =  { 2,  4,  5 } Zzg U =  { 1,  2,  3,  4,  5 } Z¤/ .9

ƒÂfzZDsZ�Hƒ@*ì? 6 »¬ŠZW 18 Zzg  12 Z¤/ .10

Å7¥x<X f ( 2 ) ƒÂ f ( x ) = 2x 

2 + 3x + 2 Z¤/ .11

¢ÆŠzŠZ],}Zq-ŠzÐÃÛzãîg6,!ø M™D�ÂQyÆ%Zœ/»Šgxã  4 cm Zzg 10 cm .12

Ã,¥x<X
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¢45é
E

G
I¨gOXZmCÒy<X .13

æzgZ2Z:Å®ÿ
NR»gK¥x™ä»Ÿ‚sX .14

~ic*Š{Ðic*Š{ÄzF, (Octagon) oƒŸ‚»ZEw™DƒñWJVMZÑHq .15 .III

2 QYMh�?¥x<X

 2 Zq-)ëw°ŠìX U*"$<� .16

Š4{c*VyZ[�X1zt~ÐZq-{~ 50 �X~ {c*V Š4 500 ~ Zq-1zt .17

2 QVðYCìX8-ö FNEˆ{~yZ[å3»Zky¥x<X "&Áõ
GNîg6,

2 »quÿL¢[¥x<X Zzg .18

2 Æ©')é ENÃëw¯Dƒñ¿<X .19

Ð„HY@*ìÂ{g` g ( x )  =  x + 1 Ã Z# .20

2 ëZzg!*¹¥x<X

cccc****
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ƒÂ BC = 18 cm Zzg CD = 5 cm ÔAD = 7 cm ìXZ¤/ DE || AB |̂~ .21

2 ¥x<X CE

Å7¥x<X sin 3θ ŠgzÐÁ»iZzt(ƒÂ  90°) iZztqœ{ θ Zzg tan θ = 1 Z¤/ .22

2

2 Ã�häzZáâÆzV`ÆöŠ+¥x<X ( 4,  7 ) Zzg ( 2,  3 ) Õo .23

ìÂ%zoÅâbR»gK¥x<X 10 cm ZzgZkÅâb—~ 7 cm Zq-%z©»Û¢ .24

cccc****

2 ìX 10 cm Zzg—~ 7 cm Zq-‡ìæzgZ2Z:»w¥x<T»Û¢

2 i<X x 
2 - 4x + 2 = 0 Ÿ‚Æ§jÐŠzŠgY)zZ] .25

2 6,Zq-8û EL˜k‚|#<X P kX` P Û¢ÆZq-ŠZ],{6,ËZq-`  3 cm .26
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2 Šg`fs¥â]»ZEw™DƒñZq-{�¯�: .27

[ 20 m = 1 cm : e:  ]

J-D ¢a

J-  E 40 

160

120

80

 40

J- C 60 

J- B 40 

Ð A

Z�ÛZŠñuZzgegZÓŠzâVY… 7 Z�ÛZŠegZÓZzg 15 Z�ÛZŠñuÔ 12 PZ�ÛZŠÆZq-¤/z{~ .28

2 Y…�ÂQyÅ®ZŠ¥x<X �XZ¤/¤/z{ÆZ�ÛZŠñuc*egZÓ

Û¢ÆñxÆZq-̂kÛ™{Ã»™Zq-Z2Z:¯c*Y@*ìTÆ‡°}» 12 cm .29

2 ƒÂZ2ZäÅ&Ò5å ENE~¥x<X 6 cm Û¢

2 Zg»y»ù·¥x<X 20 ÆZ’Zð  4 + 7 + 10 + ......Ÿ .30

Zzg B = { 2,  4,  5 } Ô A = { 1,  2,  3,  4 } Z¤/ .31

2 ¥x<X A ∪  ( B ∩ C ) ìÂ C =  { 1,  3,  5,  6 }

2 ÂŸ‚ÆZEwÐŠÎZV¥Á¥x<X ;gñã£°~�X ,.... .32
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2 J-∞ yÎ~Ÿ»ù·¥x<: .33

¿™,: .34

2

2 qÝƒä»Sky¥x<X Zq-ëw]Âî OÃŠz%ûZYÑY@*ìXÇZq-"ìFMH .35

Šg`fs~ZŠVÃI™äzZá¥Å®ZŠŠ~ˆìX .36

ö»**x Å!*w 9 ;Å

¥Å®ZŠ 12 16 8

2 0*ðeg^¯�X

2 ƒVX 7 Zzg 5 ŠzŠgY)zZ]¯�TÆ_.g .37

ƒX m = 2 Zzg k = 100 Å7¥x<² v Æni<Zzg v ƒÂ Z¤/ .38

2

CD ƒÂ AD = 4 cm Zzg BD = 8 cm ÔBD ⊥ AC Ô  = 90° £.ÞŠ~ˆ̂~ .39

2 ¥x<X
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2 Û¢Æ°æ N{»ÒgK¥x<X 7 cm .40

ëâƒD�Xóó Ók é™D�ÂQyÆ%Zœ/Zzg̀ Ûzãîg6, LLZ¤/ŠzŠZ],}Zq-Šzu}Ã .41 .IV

3 U*"$<X

3 Šg`fsGzŸ]»£g~Z�Zs¥x<: .42

¤¤¤¤////zzzz„„„„zzzz9999 ®®®®ŠŠŠŠ

1  5 4

6  10 3

11  15 2

16  20 1

N = 10

yÏZ°ZŠ¯ñYMh�X 4 yÎVÐËÌy"ÃŠzCÙZñ%Ä  1, 2, 3, 4, 5, 6 .43

3 ÐÁƒD�X 5000 Zy~ÄZ°ZŠ

cccc****

¥x<X n ƒÂ Z¤/

U*"$™,�: .44

3 =  2 sec θθθθ.

cccc****
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ƒÂU*"$<� B = 30° ÔA = 60° Z¤/

cos ( A + B ) = cos A . cos B - sin A . sin B

gzBìT~ 1000 Æ¥Zq-½d$»ZÈx™D�T»ya Ëæg"Æ)®)Šë .45

gz9ic*Š{ZŠZ 5 ¥ä½d$~8~î O71ZkaCÙZq-Ã 10 aè ŠbìX Óx¥)z~g¶

3 ™**7,ZìX¥Å®ÿ
N®ZŠ¥x<X

cccc****

Æ_.gƒVÂŠg`fsÅ7¥x<:   x 

2
 - 5x + 3 = 0 )zZ] n Zzg m Z¤/

( m + n ) 
2
  + ( m - n ) 

2
(i)

( m + n )
3
  + 4 mn (ii)

Zzg BC Ð C Zzg A !*nKM CN Zzg AMÔ  = 90° ‡[Z²Zzt[~  ABC .46

3 4 ( AM 

2
  + CN 

2
  ) = 5 AC 

2
 6,zVèo�XU*"$<� AB 

c*
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 4 AB 

2
  = AC 

2
  + BD 

2 ¥~U*"$<� ABCD

4 U*"$<�LLŠz!5Ò5é
II

]Z¤/)z~Z²ZztƒVÂQyÆ$45é NGEø²pÐƒƒD�Xóó .47 .V

 Û¢ÆŠzŠZ],zVÆŠzgZ„œ�è¹̃k‚|#<XÆ%Zœ/ 2 cm Zzg 4 cm .48

4 ŠzgƒVXè¹̃kÅM×V**�WX 8 cm

ìZzgŠzu}¥ÁÔa¥̧Á 39 Zq-ˆ!£°~¬¥ÁÔŠ}¥ÁZzg0*v,¥Á»ù· .49

4 ìÔ̂!£°»ŠÎZV¥Á¥x<X 51 Zzgz¥Á»ù·

cccc****

ìXyÎ~£°¥x 56 ZzgZŒ&Zg»y»ù· 7 Zq-yÎ~£°ÆZ’Zð&Zg»y»ù·

<X

4 )zZ]ÃF,®Æfg=i™,: .50

x 
2 + x - 2 = 0
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